HBNA BARMIE AR K =

O 28 4E PO K

H CP28iEd 1H

HEL FELE % ERk294E3H31H
B H & A It 3
K] H X T H
G EINA 5,070,000
YN RN 100,000
| R ERCS EIA 100,000
SEINA 1,950,000 R & [ 4
IANEEILA
Bl BT R BAEINA
B = R = R
—i 2 BRBEINA
HEHHESEINA
FRILA 2,020,000
R FREILA 1,180,000
BIEAFZIA 0
HEfEFRIRZEILA 840,000
FAHEIA 1,000,000
HEIA 0
S5t HDILA 0
RO ESTURIA 0
HEEE) 5,002,000
HEHTH 3,112,000
(s Eh S 952,000 A2%&HMFLE
PAEDFARR 2 HHE T 330,000 %
e e S B T 230,000 ~
W IV N EY 150,000, &
JRRFEL T 250,000 %
eI AIEIEE 3= 0 A% B REENE 1,912,000
AL = 1 1,200,000| JEzs2% Hity g2
BIESHET 0 ~
ZDADIEL A H A F 2 0 JEA A H I F 2T 1,200,000
BHHE L H 1,890,000
TGS T 840,000
HBs AR 360,000
N 140,000
RE A 20,000
A T 260,000
F—LR—=TERE 0
R—=LR—=THER 2 50,000
e 2 70,000
FBEARR 0
B 50,000
M2 100,000
Z DD P 0
HEIG NI 2% 68,000
PEE RGN S 7550 0
I B IE EIN 7 A4 40 0
i 2 S HY 68,000
VYN 2 A% 0
i RN 7 S5 %0
U RBR N e 7%




